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Except for these three — non samn A2

OVERVIEW

oX1W stated that whenever the term M9 is used regarding naw *O°X it means that
the person who performed this act is exempt from bringing a nxXwvn 279 (because
there is no XN»7RT MOX), however he is forbidden (3312771) to do this act. PRww
continues that there are three exceptions to this rule where even though the term
w1 is used, nevertheless these three acts are permitted to be done even 17710237, for
there is no MoK even 112771, Our MoOIN explains why 2R did not include other
cases which are also 701 Mws.

nvoIN asks:
— (2,09 1p% 1P NN PID PNT KD NN NN 0N 1939 HWpn

The n''9 asked but there is another case where Mud by naw *Mo°X means Mvd

amn, for we learnt in a 73w in P72 7122 P05 -
— 99 )WY NINN HraWa ON) D10 NIINN NINY 291 99N NN NadNN

‘One who extinguishes a lamp because he fears, etc., and if he extinguished it to

allow a sick person to sleep (in all these cases) he is 91D’ -
— 11390 92 WY NYINA 1Y S

And the X nx establishes this ruling of the mwn regarding a 77, that we are

discussing a 5791 who is dangerously ill -
— 2193 MDD %03 TPV 137 T9 PNRT 9MN) NV XIN 12 ON)

And if indeed it is so (a 7100 12 Ww 7911) then the Mwo of the mawn means that the
extinguisher is anY Mwe, for there is nothing which stands in the way of

preserving life! We have here another case where the mwn writes Mo and it means MWD
M. Why did 9xmw limit his 9071 708 to his three cases only?!

MO0IN answers:
—1YNYNRD HNNYD N9Y PHIOYN XD NN RVIVT NNDN NAT NI

And the n"7 answered that this is something which is obvious (that ws1 mps is

anaY o) and it is not necessary for YRR to inform us, therefore it is not included

in s™xmw list. We find a parallel to this -
—SAUIN AP KT 3NV JPPNYRY 1YY TION NYT 31102 2IWNTS

I'®,5. The X3 there (also) explains the reason the mwn writes 15 (even though it is 727n3% M), since the x9°0 of
the n1wn teaches that in other instances he is 21 therefore the 71wn writes MWD in the Xw™.

2 It seems that Moo is informing us that he is 7MY MWD (since 21 727 72 PXR); however the Xna there clearly states
this "% *¥an anm 713012 ww 77172 K
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Just as the X% will shortly answer that it is not necessary for X% to inform

us regarding those 572 where the 7105 did not act that it is 10w My, as the case of
our 71w, similarly it not necessary to mention that w91 mpa is N MWD,

mooN responds to an anticipated question:’
— 9NN 12393 HEINY HIPY NIV NIIDTA 99991 WNI 1)

And the case of capturing a snake is when there is no danger, for he could be

saved in another way -
— 7RO 9153 113 1329 NV 19V NIYY DIVN NON

Rather the 3339 permitted him to capture it because of the pain it is causing him

if he will not capture it, just like by X091 ©%9% where the 1121 permitted him to burst it
because of the Wwx.

maoIn proves his point that wni1 7% is permitted because of 7¥¥ and not because of a 7130:
— 99 NIV DIYN IND YNI 18T (3,17 ow) DINIY NINY PID Y92 NI 19

And this is also evident in the beginning of 2% w annw P99, that W 7X is not

21v2 because of 7159, but rather it is because of WX -
— Y5Y MV ENaNY NN NINY NIANYN MINT IV 290 nY P NNY

Because the X713 there establishes that this ruling of wni 7¥7 is Mo, is according
to w'"1 who maintains that one is "5 for a 3"">xxwn.’

mooin asks an additional question:
— (x,20 ow) YN 193 7992 NOINT XN NI'NX RN PHYY 19290 NYP T

And furthermore asks the ', but there is another example of nawa "N Mwd;

3 The xm3 explains why 2xmw did not include the 1M1 705 of our 7awn» (by M1 2"Av 270 "7, etc.)

49xmw is listing the (three) *10o that are 711 MWD when there is no w931 Mps and the person did something.

> mpon just concluded that YW is not discussing a wo1 Mps case for there obviously it is MM Mws. However the
case of w1 7¥ seems to be a wo1 Mpd case; otherwise why is he indeed 7n1m1 Mws.

¢ He is capturing the snake in order he should not be bitten by it (not that he needs the snake for any (medicinal or
other) purpose. This is called a 79137 772°7% 71RW 79X which according to "9 is generally 732772 70K 928 7ws. In a
case of 7wx the 7127 permitted it.

7 X0 0’51 means to squeeze open an abscess (boil, pimple) to allow the puss to flow out.

8 The nox9n of ¥ forbids one to capture an animal if he will derive some benefit from the animal. In the 1own they
captured the 0°2°X and the o°wnn to use their hide for the covering of the jown. When one captures a snake in order
not to be bitten by the snake (but he has no use for the snake) he is doing the 73871 of 7%, but he does not need the
object which he is 7x. This is called a 719%%n (he is intent on capturing the snake, but it is) 797 75°7% 71rx&w (he does
not need the X911 of the snake which he is capturing). There is a np1>nn between 377 'Y who maintains that a
A"2¥RWN is XX 270 (and this is also the view of the 0"217) and w"Y who maintains that a X"7¥Rwn is 2R MWD
MOR (most 2°1WRA ascribe to this view).

9 This proves that there is no 7130, for if there were a 7100 then even 777 " (who maintains 3"2¥xwn is 21) would
agree that it is 9, since 1"P9 %192 7MWW 927 72 PR.
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for we have learnt in a Rn5992 in WK 722 PO -
— 9599 9109 NXINI PVYD HY H'NIYYIY 101532993 V1D NNYIYN a9

X'"% exempts a women (from a nXvn 1272) who went out into the 7"77 wearing a
n9210 or a PYMSD B nomvx, and WO here means N MWD,

mooIn proves his point that it is N MVL:
— Un5nnaY 52153 NYN NNY IIIN MTYON 229 NN NP NINK NN XNT

For it states there from another Xn>>92 that X''9 maintains a woman may go out
morno® with a n®212; there is seemingly another case of Anm 7Mwo!

NID0IN answers:
YN PPMIYN D99 NIN ININY 2PWN XDT DNIAN 13929 DWA PN 13929 XM

And the "1 answered in the name of X'9 that YNww only included those

2°71up that are taught in the mwn; in the nviwn there are only three cases of 1 wo.
However he did not include the 2>15 which are mentioned in Mn>A2.

npoIn shows that the three o™ of PXI™W are mentioned in NIWn:
— (3,7 97 0w) YINNA NN NIYN AN 189

For >ax 7x is a 71w in 387 P79, and the ruling regarding —
— ('n mwn’apys) NPTYA NI NIVN XD 0913 WN) 18N

w1 787 and X092 ©O99R is a IR in NYITY NoON.

mooin offers an alternate solution why 2X1mw did not include the case of N92132 MWK NRYY:
— (8,20 97 0v) ZAYN N2 9992 Y097 DI190D

And according to the texts which are ©913 in WK 77723 P95 -
— 90N AN 9109 11N 19D 9N HNVN 299N TINMI 229 9INT YN

‘Since n''9 states that a n92102 R¥Y is NRWR 3957 therefore X" responded to »",
she is merely 790K %2R 21w’ -

1079213 and 19D YW N°MYX are spices (made with balsam wood oil), which women wear in a knot or a vial as a
perfume.

' See ‘Thinking it over’.

12 The %3 there responds to the contradiction between the Xn*>2 which states that n732132 0w X" indicating that it
is (1327171) MoK and the Xn>>72 which states that 751027 N92132 AWK AXYY 92K 8", In the texts which n9oINn cites, the
answer is that X" maintains that it is 751n3% 201, the reason the Xn*92 states NY2152 0P X"1 is because X" is
responding to the opinion of n"7 there, who maintains that she is ni&vwn na»n. To this X"3 responds that even
according to you, n", it should only be 70X 22X 7109, but no nXwvn 21°1. Therefore this 7Wd cannot be included in the
2N M, because it indeed means OX 22X 7w (the view of »"7 according to X"). [The reason it is M9 is because
it is considered a v’w>n (an ornament) not a "Xw» (a load); those who maintain it is 70X is because we are concerned
she may remove it to show to her friends and then carry it; however X" is not concerned for this, therefore it is >
AN,
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— 99N 2395 9IND MTWYN 297 U

The explanation of this reply is that R''1 is saying to »''9 -
— 9YON YAN 9909 NN NNP N 90991 9399 513 70931y

Even according to your opinion at most it should only be 2358 »ax 2ws -
1999V SNIN 1T NDA) 29D

According to this X073 it is properly understood why >xmw did not include this
anm with the other three.

SUMMARY

X1 includes in his list of 7N MWd where (the person is doing something and) it
is not case of 1"Pd (which is obviously 70 ). He only includes the 21105 from the
mwn (not from NN>72) according to one opinion.

THINKING IT OVER

nooin asks why does not 281w include the ruling of X"1 regarding a 21> where it
is °mn as mentioned in another Xn>»2."% Seemingly this itself is the answer, since
there is a Xn»12 which states that 771n3% n%2122 AR¥Y, there is no need for XMW to
mention it (just as he does not mention 7wyn nwy X7 and 1"po). What is npoin
question?!!*

13 See footnote # 11.
14 See wx nnan.
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